Jul 13-8:45 AM

D |5-72| =& ©

\D \l°: 0
30+40+ X<z (90 @
x=110 X=4
5) sie ¢Q =77

so X fec AR mustbe -4, (O

@©

Jul 13-8:49 AM




6 A(x42) (8K

i 1—-
D=4 (O
7\ [opL=Y7S + .0) X

515= 61X
07 .oy @

1500 =X

Jul 13-8:55 AM

K& x- G X4 3x~10

r)x=d (k-2 +9)

Jul 13-9:04 AM




g) X—y:.ﬂ;

- x&{:fé @

q§ ‘g(x) = “1\(‘!: Y
-F("S\‘:- ’Z(‘LS')-— 3(’?}
= -50\S”
-- 35

Jul 13-8:58 AM

'0) AN (=Q 2ﬂ(§=.g’(

T=Vp (= ¢
® 2=C
ll} \l N+ = Z‘-‘s @
n'\‘l‘: pu X
q
qnf‘?-a
n=-\4

V\:~%\1L

Jul 13-8:59 AM



Jul 13-9:03 AM




|5) . smhA= %
o

v 'h“ﬁ-.
"t T A
2 v
} C =0 +
T (o vV =

Jul 13-9:16 AM

L) | 2

¥
. ™

b 1R ~Y) [ on 3 < 90 X
= I180-Z ‘?.-_Y-*)'
=2 (O

Jul 13-9:19 AM



- Qb= b¥ \/
4 _ -2-0_ 3
\ M= 2 4T
m — -
H) a\‘sx = “a y
Freat Ty ©
X==
9& \l;'- 0-w-\

V= Q.‘L ) (Lzw) (1.2 5‘\\\
V= 1R0uwh 0% (ne

®

Jul 13-9:27 AM




(-z)‘b) i v\a’\' an C

So
22) l(’fvw
1 419
3
Y x
ST W4 YL
2 9 IO 0~ 900
]
i ©

Jul 13-9:49 AM




Jul 13-9:53 AM

2L) 15 _ Lo (o @

25 100
27) \?:%‘-q\( 5
X 4«5 ‘(Q‘BCS

=
1y :;-'4)-5
3(% ;_)’{3_\
X < 27 ?&5_3
XL vs ,\(3-3.2

'\’0'\...\3 @

Jul 13-9:55 AM



w= N*P
T,,= (120)% (L1 p) &

= l,‘!‘Z.n‘)

Jul 13-10:33 AM

fally

X-\‘ RGP
(7_*{:5) ‘H\ﬁ) Y+4Hy3 = 74483

X=| S+

X= 3%

Jul 13-11:59 AM




30) )(7'-f6\<+ k=0
(254w =20

(254 20

Jul 13-10:36 AM

3” Eék/éo\v >k

1+3:]2-1= b x2
-l @

33) (. -\"( = -—% (\(1: C

®

Jul 13-10:41 AM




3‘(’) A %) = (o0min 4}@
n
N %) = OmiIN 300
N
150 200
2 22— B
TO 200~ T00 [ min

Jul 13-10:59 AM

Jul 13-11:08 AM




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

